Tz % S
"l % é VYMHOXKEHUE NECATUYHBIX 3HAKOB Ha CTEIEHDb NECATU

WUms: Jata: ___ Ouenka:___
2,075 %1000 = 5,316 x 100 =
10,579 x 10 = 1,98 x 1000000 =
6,428 x 100 = 9, 11 x 1000000 =
3,84 x 100 = 2,75 x 1000000 =
9, 798 x 1000000 = 4,221 x 10 =
5,133 x 100000 = 1,075 x 10 =
4, 838 x 1000 = 4,64 x 1000 =
9,981 x 1000000 = 8,149 x 100 =
3,459 x 10 = 6,706 x 100 =
8, 948 x 100000 = 10, 08 x 10000 =

www.snowmath.com


https://www.snowmath.com

y % VYMHOXEHHe JCCATHYHBIX 3HAKOB Ha CTCIICHD ACCATU

Pws: Jata: ____ Ouemka:
2,075 x 1000 = 2075 5,316 x 100 = 531.6
10,579 x 10 = 105.79 1, 98 x 1000000 = 1980000
6,428 x 100 = 642.8 9, 11 x 1000000 = 9110000
3,84 x 100 = 384 2,75 x 1000000 = 2750000
9, 798 x 1000000 = 9798000 4,221 x 10 =42.21
5, 133 x 100000 = 513300 1,075 x10=10.75
4, 838 x 1000 = 4838 4,64 x 1000 = 4640
9,981 x 1000000 = 9981000 8, 149 x 100 = 814.9
3,459 x 10 = 34.59 6, 706 < 100 = 670.6
8, 948 x 100000 = 894800 10, 08 x 10000 = 100800
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